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Dilations

The dilation is a reduction i[O <k =2 1 and itis an enlargement if k> 1.




1. Inthe diagram below, the cer »rof diiation is point O. Find the scale factor. |s this a reduction or
enlargemant?
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2. Inthe diagram below, the center of di :ion is point O. Find the scale factor. is this a reduction or an
enlargement?
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I the diagrdm below, CDHs the fmage o) Bufter a dilation of scale é\)

fastor k with center E.
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Which ratic is equal o the scale factor ] the flilation?
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Determine the point.
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If the dilation 2,(-2,4) equals (1,2), the scale factor k is equal to

]
A 3 B) 2 C) 2

6. Which transformation represents a dilation?

1) (8,4) — (1,7
2) (3,4) — (-5,4)

3) (8.4) — (-4,-8)

@ (8,4) - (4,2)
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7. Find the scale factor. Is this a reduction or an enlargement?
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or anenlargement?
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Dilations

Date:

" 1. What are the coordinates of point (1,4} under dilation D_,, centered at the origin?
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2. A.The image of point A after a dilation, centered at the origin, of3; is {6,13). What was the original

location of point A?
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B. Find the image of A(2, -3) after the dilation described above. ( (O ”’Q}
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f’»{‘ A, Find a coordinate rui ﬂar he d
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B. Using your coordinate r@, firn
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3) and scale factor 2./
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4. Find the coordinates of the image of (2, €) afiar a diiztion of scale fat'torfiij\f.!ith.,the center of
N dilation at (-3, 4).
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6. Graph triangle ABC, A(-2, 4), B(-1, 1), and C{-4, 2). AT L) K
Dilate the triangle with a scale factor of 2, certered at (2, 1). Q ""”) !
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Dilate by 3, center (-6
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@ Triangle ABC has vertices A(6,6), 9,2}, and C{3,-3). State and label the coordinates of AA'B' ',
< the image of 4ABC sfter g dilatic  of D_;;\q_ certered at the origin.
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2 /What are the ;oordmates of point (~1,4) under dilation | *@icentered at the origin?

\) >. rollocts

'
Sy ; D\)g 2!
ra A \\\
L)
e - ’._\ £ o ;;1\\»,
{5 . \'—7‘ i\’_\ ., ~ ‘\'/"'
y N

10. Find thg coordinates of (-4, 9) after a dilation of scale facto‘-’r-"/;_\/with the center of dilation at (8, 1)
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4/1 s 5 Yoo, F ﬂ;-agx‘”f\ 5
. The image of point A after a dilation, cantered the igin, ofB is (6,15). What was the original
location of point A?
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12, On the accompanying gud, grapn: 4 lakel guadrilateral ABCD, whose coordinates are A(~1,3),
32,0, C2,-1), and I-3,-1). £ pb, labal, and state the coordinates of A'B'C ‘D, the image of
ABCD under & dilation 67 2, where e tepter of dilation is (1, 3).
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13. Under a dilation where the centel lf ('H‘I%E'Lcﬂi_smmy___’ri_gi_n_lhe image of A(-2 —3) is A'(-6,-9). What
are the coordinates of 5', the ime = cf (4 0} under the same dilation?
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14. Triangle ABC has coordinates A{-2,1}, 53,1}, and Cf0,-3). Cn the set of axes below&raph and label
AA'B'C', the image of AABC after a dilation of 2. M/'/ /z{ oredin
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N 5. Pn the accompanying set of axes, graph AABC with coordinates 4(~1,2), B(0,6), and C(5,4). Then
%\/ graph AA'B'C’, th%'mgge of AABC after a diI?h‘pn of 3, centered at (1, -1)\Hint: Your image will not
fit on the grid unless you cha ur@ \\_{)J <l ) T
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Dilation Constructions

L Center.of Dilation {Inside} . |~ . Centerof Dilation{On}" - .| Centerof Dilation {Cutside) 1
B -~ B’ B
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1. Using a compass and a straightedge, dilate the given triangle by a scale factor of 2 with the >£ d Q-

center of dilation at Point P.
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Dilate Triangle QRS by a scal ‘acto ;;f 3 with the center of dilation Point X.
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|
3. Dilate Quadrilateral ABCD by a scale factor of 2 with the center of dilation at Point A.

i
¥
\» (’j
! . #
(o3 o > 1
»
i B
;
| #
,x*[l/
/,
.
//'/
e
rd
yd
.\f)
B €
I'i




4. Dilate Triangle ABC by a scal [ac ‘tor; of % with the center of dilation at Point N.
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5. Dilate the given triangle by a scale factor o@with the center of dilation at A.
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f Dilate thag:ven line segmen
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nth the center of dilation at A.




